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Errata of the book Weber’s Electrodynamics, A. K. T. Assis (Kluwer Academic Publishers, 

Dordrecht, 1994), ISBN: 0-7923-3137-0. Nowadays this book is available through 

Springer. Doi: 10.1007/978-94-017-3670-1 and 

www.springer.com/gp/book/9780792331377  

 

https://www.ifi.unicamp.br/~assis 

 

I thank Arthur Baraov and Mohammed Al Saud for some of these corrections. 

 

- Page 58, the last but one line should read: 
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' ˆ'' ˆ'' ˆ'' zzyyxxr jjjj ++=
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, etc. 

 

- Page 66, Equation (3.40) should read: 
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- Page 84, Equation (4.16) should read: 
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- Page 85, first line of Equation (4.19) should read 

 

( ) ( ) 2222

22
22

1ˆ

4
++−−++++

++
+−−+− jjiijjii

ij

ij

o

ji
vvvvvvvv

cr

rdqdq 


 

 

- Page 85, first line of Equation (4.20) should read 
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- Page 96, first line of Equation (4.49) should read 

 

http://www.springer.com/gp/book/9780792331377
https://www.ifi.unicamp.br/~assis


2 

 














−+=














−

j

j

j

j

j

j

j

j

j

jj

j

jiji
o

j

j

j

jj

j

j

j

j

jiji
o

d

dx

r

z

d

dz

r

x

r

zx

d

d
ddII

d

dr

r

zx

d

dz

r

x
ddII







33343 4
32

4 





  

 

- Page 163, Equation (6.31) should read: 
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- Page 163, Equation (6.34) should read: 
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- Page 166, Equation (6.36) should read: 
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- Page 186, Equation (7.11) should read 
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- Page 194, last line of Equation (7.26) should read 
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- Page 245, first line of Equation (B11) should read 
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